Year 3—Money
Lesson 5—giving change

Finding the change by subtracting,

@ ( | have £1 and 32p | spend 25p. How much change do | \
have?

£l and 7p

\_ J

@ (Can you count up to find the amount of change given? \
| have £10 and | spend £4 and 22p.

£5 and 78p

\_ J
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@ (Can you find the change given by first subtracting the

pounds and then subtracting the pence?

£10 and 65p - £4 and 33p £6 and 32p

\_ /

( Miss Joiner had £7 and 25p. She bought an ice cream for £2 and 39p. How\
much change did she get?

£4 and 86p

\_ J




